Extractors

PARTS LIST Parts for PEB, PEB-TM

and PEB-H

XBO12A

oy
Includes '
¥ X8016 '/
oY e AT D
< w0028 —2Be
a

T XB247B

-

X8027R

y
SW128 @ SW123
o
SW165 B,
=0

NP
SWis4
7AG002

@ SWw148

ﬁg\\ SW146

SW139

/
SW"OE?@\SW 1 B\ %8242

SW109 X8247 X8242

Order by phone at 800.880.2913 ¢ Order by fax at 817.551.0719 e Order online at www.Powr-Flite.com



PARTS LIST

Extractors
Parts for PEB, PEB-TM

and PEB-H

order description order d iption
F5P switch, 25 amp X8011B handle, tube 1-1/2" w/ bushings
PX5 brass male coupler X8012 handle clamp collar
PX29G gasket X8012A handle clamp assembly
SR37 strain relief, metal X8016 knob
SW101 main housing X8018 pivot shaft
SW102 stainless steel under carriage X8020 washer axle
SW107 solenoid bracket X8022C 2 wire cord assembly
SW109 stainless steel vacuum pick-up tool X8022D 3 wire cord assembly
SW116 clamp, motor X8025 4" wheel
SW117 bearing plate |h X8026 dowell pin
SW118 bearing plate rh X8027L left brace
SwW119 manifold, spray tip X8027R right brace
SW122 pigtail, electrical X8028 square, washer
SW123 cogged timing belt, for brush X8029 axle
SW124 small pulley X8034 35 amp rectifier
SW126 shaft, brush X8061 clip switch lever
SW125 large pulley X8100 counter nut
SW128 bearing housing X8101 spring, asher
SwW129 bronze bearing (2 required) X8201 8/32" x 3/8" type b screw
SW130 permanent magnet motor X8202 screw for SW117
SW132 solenoid, mopd, 250 psi (peb) X8206 10/32 screw for SW117
SW132-4 solenoid, mopd, 400 psi (peb-tm) X8208 10-24 x 5/8" phillis head machine screw
SW132w solenoid, o-ring X8210 wheel screw
SW133A brass spray nozzle X8210-1 short, switch housing screw and nut
SW134 spray nozzle .015 1/8" npt stainless steel X8220 long, switch housin screw

(peb-tm) X8225 3/16" cut washer
SW139 1/8" street elbow X8228 spacer
SW142 nylon cylindrical brush w/ solid pvc core X8242 hex nut
SW143 belt guard X8246 5/16 2-1/2" slotted screw
SW144 hose ring assembly X8247 phillips flat m/s
SW145 2 amp circuit breaker X8247B 10/24 x 3/8 phillips pan head screw
SW146 1/8" 45" street elbow X8251 phillips pan head m/s
7AG002 1/4" bushing X8254 shack proof lock washer
SwW148 1/8" x 3" nipple
SW149 1/8" x 1/2" nipple NOT ILLUSTRATED
SW150 female receptacle (mates w/ SW151) K1115 expander, 1-1/2 x 1-1/4
SW151 male rubber plug w/ build in strain relief K1113G 2" cuff
SW154 gasket solution/housing X8150 solution hose ties
SW1520 solenoid switch 1503WD tmhd 1-1/2" x 25' blue hose w/ cuffs
X8001 top handle housing 1504WDS tmhd 1-1/2" x 25' blue hose w/ solution hose
X8002 bottom handle housing & couplings
X80003 switch lever 1504WDE tmhd solution hose & cord assembly
X8005 handle tube PX3A 25' solution hose w/ couplings 100 psi @ 140°
X8006 switch bracket 3/8"
X8007 handle grip PX28 insulator boot for toggle switch
X8009 4" jumper wire SW141 14/3 24' sjtw-a yellow cord
X8010 switch spring PCT 1" x 260" teflon tape

Order by phone at 800.880.2913 ¢ Order by fax at 817.551.0719 e Order online at www.Powr-Flite.com



